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“Must be able to;-

ik
QUTHCHAMOIC  APPLTANCE  MAKER (WOOD)

Must have a good knowledge of the use and carc of the tools
the tradc.

Carry out the neccosury. wwaswremenls and calculations of the
trade and work from dincnsional sketches and drawings.
Identify and have a general knowledge of the properties, uses
and working characteristics of the more common.timbers used
in the trade.

Make simple mortise ond tcnon joints, plane and groove boards
for panclling ctc,

Make and finish fracture bhoords, sticks, crutches, consulting
couches etc.:

Make and fix inteinal joinery in general,

Carry out simple repair work to artificial limbs.

Make and fix frames (o cruipment.

Must be able to:-

Identify and havec a pzod knovledge of the propertics used
andworking characteristics of all timbers used in Lhe trade.
Make all types of joints used in woodwork and know Lheir
properties,

Carry oul rcpair work to artificial Linbs, appliances,, pros-
theses and equipinubs.

Make out from drawing the timbers for the repalr or construc-
tion of a framecwork, cockst, artificial limb, prostheses etc:
Carry out simplc joiunciy work,

Must be able to:-

cread, write and spook Linglish or I'rench.

.Must be able to:-

Caxry out from drawines and speciflications the construction:
of any part of artificinl Limbs, prostheses etc:, to prepare
and set out in a correct manner all timher parts and construct
in a workmanlike manaer the appliances, artificial limbs, pro-
theses, equipments etc; and to give the finish.
Take off quantities from plans and prepare cutting lists. -
Inspect and report on the state o' repairs of all nppllances,,
artificial limbs cto;

Must have expericrce aud Quolities of initiative nnd leadership
Must wmeo: corructly oll lastrumen s and machinery of the trado.
Must have a thoroush tochnioal knowledgeo of the” work oarried
on in ‘tho sootlon, ' : {
Must have' a knowledpe of the correoct procedure for obtaining
materials {rom HLoven,

Must have a knzwicdpc of the condition of service of the men
in the secticn in which h2 is working.,
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